mj §§§ Q T YEeTBIPE 3HAKA TIOCIIE 3aIATOM, IOPAIOK OIEPALMI CO
[o] uiniv CKOOKaMu

Nwms: Hara:_ Omenka:
(25+5-5,9)x6,5 = 4,6 +6(3+3,6)=

8+4+4,7)x3,2= 20+5+6,2)x2,4=

16(2,9+5)+4 = (5,9-6,5)%x3,7-4=

25+5+3)x3,3= 5,7+3,44,7-2,7)=

(36 +6+3,2)x4,4= 9+3-4)x2,6=
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mj §§§ 5 T YEeTBIPE 3HAKA TIOCIIE 3aIATOM, IOPAIOK OIEPALMI CO
[o] uiniv CKOOKaMu

Nwms: Hara:_ Omenka:
(25+5-5,9)x6,5=-5.85 4,6 +6(33+3,6)=44.2
8+4+4,7)x3,2=21.44 (20+5+6,2)x2,4=2448
16(2,9+5)+4=31.6 (5,9—-6,5)%x3,7-4=-6.22
(25+5+3)x3,3=264 5,7+3,44,7—-2,7)=12.5
(36 +6+3,2) x4,4 =40.48 9+3-4)x2,6=-2.6
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